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AB=12,BD=8, CD=1¢ o, AC<] do]
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AABC 2} ADBE ©f|A]
BC:BE=9:6=3:2,AB:DB=12:8=3:2, (Bt
=5

AABC & ADBE (SAS &)
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. AC =9(cm)
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5. o2 I A AABC o ADEF o)1, §2H|7F3: 2 & ], AABC
o] =d|9] Ao]E& ot}
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> HE . 36cm

AABC : ADEF =3:2 0|2 &
AB:DE=15:[ |=3:2
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ABAD 0 ABCA ©]2 & BA : BC = BD : BA
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AADB O ACDA 0|22

AD:CD =DB: DA
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th2 1319 ABED ¢} ACFE ©J| A
/BED = /CFE
(B=/=60°--0
(BED + /BDE = 120°
/BED + /CEF = 120° (" /DEF = /A =60° )
. /BDE = /CEF ---©
A

“4emE - ~8em--~

@, ©°ll4 ABED ¢ ACFE
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A 7

O AABE ® aADC ® aBCF
@)saED  ® ACDF

~&B

/ABE = /ACD, /BAE = /CAD ©|E2=2

AABE 2 AACD (AA B2)

AABC 9} AAED ©f|A4] /BAC = /EAD , AB: AE = AC : AD
(- AABE ¢ AACD ) ©|E& SAS F-go|t}.

.. AABC ¢OAAED (SAS &)
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ABCJ = gAEBC
= 2 X }lDABCD
=8
AHZFEABCD 9| Y #o] Zol7t gong
olJKL
= 0ABCD - (AABI + AADL + ADCK + aCBJ)

= o0ABCD - 4ABCJ
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tr8 a3t Zo] Yo7t 14em? Q1 AABC A

7F 2ttt BD = 3cm, DC = 4cm ©]1,

A E FEAB AC 919 499 "otk o/ \gp
ABCF = oDCFE ¢ o], ABCF 2] Y ©]

=7
B D C

@ 6cm? @ 7cm? 3)8cm?
@ 9cm? ® 10cm?

ABCF = oDCFE |22 A

ABDF = AEDF, AB //DF

AF:FC=BD:DC=3:4 E F

AABF:APZLCF:?)ZZI 4

8 (sz) B D C




25. /\1§ i "IE" O‘]7]_<'>_A BO:”/\‘1 0‘]71%
A & Bu7} 27rem® & o, 975 B ‘
\

o] Hulg FotH? A, ;
1/2cm Z'SCm
1
@ 2437 cm? @ 2837cm? :
® 3237cm? @34377 cm?
® 363rcm?®

B )
(F3H])=12:28=3:7

(Fo o] H]) =3%: 73 =27:343

27 : 343 = 27n : (9715 Be] £1)
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